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breakpoint: 10075388 − 10075404 sf−2 hi−0
N = 30   Bandwidth = 0.4558

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 10075388 − 10075404 sf−2 hi−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15

20
25

30



−1.5 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 150 line = MAGIC.433 , Chr = 5

breakpoint: 10817012 − 10817172 hi−0 sf−2
N = 17   Bandwidth = 0.5107

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 10817012 − 10817172 hi−0 sf−2

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15

−50 0 50 100 150 200

0.
00

0
0.

00
5

0.
01

0
0.

01
5

Bp = 151 line = MAGIC.433 , Chr = 5

breakpoint: 11124271 − 11124295 sf−2 hi−0
N = 10   Bandwidth = 23.16

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 11124271 − 11124295 sf−2 hi−0

F
re

qu
en

cy

0 20 40 60 80 100 140

0
2

4
6

8



−1.0 −0.5 0.0 0.5 1.0

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Bp = 152 line = MAGIC.433 , Chr = 5

breakpoint: 11738433 − 11738434 hi−0 sf−2
N = 67   Bandwidth = 0.3882

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 11738433 − 11738434 hi−0 sf−2

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
10

20
30

40
50

60

−2 −1 0 1 2

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

0.
6

Bp = 153 line = MAGIC.433 , Chr = 5

breakpoint: 12025141 − 12025224 sf−2 hi−0
N = 4   Bandwidth = 0.6821

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 12025141 − 12025224 sf−2 hi−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
1

2
3

4



−50 0 50 100 150 200

0.
00

0
0.

00
4

0.
00

8
0.

01
2

Bp = 154 line = MAGIC.433 , Chr = 5

breakpoint: 13119827 − 13119860 hi−0 sf−2
N = 7   Bandwidth = 27.66

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 13119827 − 13119860 hi−0 sf−2

F
re

qu
en

cy

0 50 100 150

0
1

2
3

4
5

6

−1.5 −0.5 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

Bp = 157 line = MAGIC.433 , Chr = 5

breakpoint: 13992212 − 13992219 tsu−0 sf−2
N = 8   Bandwidth = 0.5938

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 13992212 − 13992219 tsu−0 sf−2

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
2

4
6

8



−2 −1 0 1 2

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

0.
6

Bp = 158 line = MAGIC.433 , Chr = 5

breakpoint: 14094613 − 14094622 sf−2 zu−0
N = 4   Bandwidth = 0.6821

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 14094613 − 14094622 sf−2 zu−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
1

2
3

4

−1.5 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 160 line = MAGIC.433 , Chr = 5

breakpoint: 14487838 − 14487873 sf−2 wu−0
N = 19   Bandwidth = 0.4994

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 14487838 − 14487873 sf−2 wu−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15



−100 0 50 100 150 200 250

0.
00

0
0.

00
4

0.
00

8
Bp = 161 line = MAGIC.433 , Chr = 5

breakpoint: 14675079 − 14675080 wu−0 sf−2
N = 10   Bandwidth = 29.02

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 14675079 − 14675080 wu−0 sf−2

F
re

qu
en

cy

0 50 100 150

0
2

4
6

8

−100 0 50 100 150 200

0.
00

0
0.

00
4

0.
00

8

Bp = 162 line = MAGIC.433 , Chr = 5

breakpoint: 15074393 − 15074431 sf−2 bur−0
N = 7   Bandwidth = 30.66

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 15074393 − 15074431 sf−2 bur−0

F
re

qu
en

cy

0 50 100 150

0
1

2
3

4
5

6



−50 0 50 100 150 200

0.
00

0
0.

00
4

0.
00

8
Bp = 163 line = MAGIC.433 , Chr = 5

breakpoint: 15094730 − 15095043 bur−0 sf−2
N = 3   Bandwidth = 29.38

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 15094730 − 15095043 bur−0 sf−2

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0

−100 0 50 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 164 line = MAGIC.433 , Chr = 5

breakpoint: 15276698 − 15276912 sf−2 hi−0
N = 3   Bandwidth = 36.39

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 15276698 − 15276912 sf−2 hi−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−1.5 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 165 line = MAGIC.433 , Chr = 5

breakpoint: 15878071 − 15878106 hi−0 sf−2
N = 16   Bandwidth = 0.5169

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 15878071 − 15878106 hi−0 sf−2

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15

−100 0 100 200 300

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 166 line = MAGIC.433 , Chr = 5

breakpoint: 16142125 − 16142131 sf−2 hi−0
N = 4   Bandwidth = 43.65

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 16142125 − 16142131 sf−2 hi−0

F
re

qu
en

cy

0 50 100 150 200

0.
0

0.
5

1.
0

1.
5

2.
0



−100 0 50 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

0.
00

8
Bp = 168 line = MAGIC.433 , Chr = 5

breakpoint: 17050377 − 17050455 sf−2 hi−0
N = 3   Bandwidth = 33.97

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 17050377 − 17050455 sf−2 hi−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0

−100 −50 0 50 100 150 200

0.
00

0
0.

00
4

0.
00

8

Bp = 172 line = MAGIC.433 , Chr = 5

breakpoint: 18265259 − 18265281 ler−0 hi−0
N = 3   Bandwidth = 30.19

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 18265259 − 18265281 ler−0 hi−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−1.5 −1.0 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 173 line = MAGIC.433 , Chr = 5

breakpoint: 18495301 − 18495396 hi−0 ler−0
N = 24   Bandwidth = 0.4767

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 18495301 − 18495396 hi−0 ler−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15

20

−1.5 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 174 line = MAGIC.433 , Chr = 5

breakpoint: 19414848 − 19414862 ler−0 hi−0
N = 18   Bandwidth = 0.5049

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 19414848 − 19414862 ler−0 hi−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
5

10
15



−1.5 −0.5 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

Bp = 176 line = MAGIC.433 , Chr = 5

breakpoint: 21013826 − 21013831 ler−0 ws−0
N = 8   Bandwidth = 0.5938

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 21013826 − 21013831 ler−0 ws−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
2

4
6

8

−100 0 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 178 line = MAGIC.433 , Chr = 5

breakpoint: 21753206 − 21753307 hi−0 can−0
N = 3   Bandwidth = 38.55

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 21753206 − 21753307 hi−0 can−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−2 −1 0 1 2

0.
0

0.
2

0.
4

0.
6

Bp = 179 line = MAGIC.433 , Chr = 5

breakpoint: 22150363 − 22150375 can−0 hi−0
N = 6   Bandwidth = 0.6289

D
en

si
ty

line = MAGIC.433 , Chr = 5

breakpoint: 22150363 − 22150375 can−0 hi−0

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
1

2
3

4
5

6


